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This test measures candidates' ability to“(i) fL)I slnu“ale arlthmetical computatlon problems
with speed and accuracy, (2) solve some\ prokﬂlems involving arithmetical reasoning and (3)
analyse and interpret data represented |n the wfnrm of tables and graphs etc. The simple
arithmetic problems involve basic operat:ons hke addition, subtraction, multiplication,
division, percentage, squares, and square routes Wlth whole numbers as well as fractions and
decimals. The problems involving arithmetical reasomng may be based on averages, ratio-

proportion, interest (sumple compound) number serles etc

Allthese arithmetical nperatmns are included in the mlddle schcml orat best in the high school
syllabus. You may refer to these books for revising your knowiedge Questions which require
use of complex formulas, hlgher algebralc knowledge etc. are not mcluded More emphasis is

laid on arithmetical reasoning. : L

The types of questions are only lllustratlve and not exhaustwe In actual test you may find

*_guestions on some or all these types and also quesuons r:m the type not mentioned here.
‘1 I | | “‘ H‘ lj\

0.1-15. What approxxmate value should come in place'of the question mark (?) in the following

questions? (Note: you are not expectéd ‘to work nut the| e>‘cact value).
“ I I 1 |

Q.1  11004.01- 19130456280‘—:;! | A

1) 21376 Al

2) 11476 EER i

3) 11376 | AL

4) 11250 i“f‘
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~$ ‘ i que$tlons? (Note: you are not expected to wodc out the exact value). ;S
Kadn \
ik cm. [ 1100401 191.30 +562.80 =7 N
| :- “‘I | | :\
il 5-’% i | 1) 21376 N
(i B | | 2) 11476 N
_ H{ | I 3} mwa 1
¢ | AT
e L 5) Plo eofthosegwen asoptlons ) AR
AR 0. | —UMBOO 40 =7 N
‘ ::\1;1 ! é .w-: ‘} i
| | i
sl 1) 12800 R
I 2) 180 J
:Q‘ a8y 600 | “E?'.‘
Rl ~4) 1600 B
Al i l i e _‘.1‘”- i
.E‘:;‘ | §) None of those given as options 3l
‘!%»:: | | i . | o I
| i Q.3 22559,70+ 157 *E it
L IR £
i L 1) 1540 By
1S ° 2) 15400 |
h 3) 154 :
e a) 15040 it
! 3 ‘5) None of those given as options o
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Sj Nune of those glven as optlons
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16 ,,218,41 149 25 ?7'

Q7 10375+19.777+12.75=7 i |l e
RN
1) 65 L | il
2) A2 " I ; U ' I | 1E“lz‘iiﬂ i” : | |
3) 54 " U a ] ;‘!3‘_.“ |
4) 37 j ‘ ‘ R T
5) 28
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Q.10

1)
2)
4)
5)

Q.11
2)

3)
4)

Q.12
1)
2)

3)
4)

Q.13
1)

3)
4)
]

? % o0f130=11.7

9

90

1

13

10
13.6+6.80x7.01=7

by W

27
45
37
91
14

19.7% of ? + 9.9% of 150 = 25

25
20
35
30
50

5123.0712 + 364.6 + 18.105="?

5125
5599
5506
5400
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A ~ 4) 5400 3
v ' 5) None of those given as options N
W | NN
. Ll | 3
i Q14, 2399.80+ 16,1514 = 7 i
| [N B 1 3
2 130 N
. 8) 180 3
8 15l h
i 5) 1300 8
‘ . 4
'Q1S. V484 +21%0f32=7 2
i 1)‘ 35 ‘:S
Y a‘ﬁ I i
3) 20
4) | 29 “
sy a2 |
I by
L ?._‘?
\‘ | | ":.
SOLUTION: Q.1-15. USE BODMAS RULE. :
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Q.16-20. In each of the following questuons oné”npmber wrong in the senesuw Fmd ‘out the wrong

‘h HM ‘H i
‘ Il ‘ I e I
U H | | H” Il ““ ‘ | il il : ‘\“ il (i I
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number in each case. i
‘ i

21551 I H' H‘ Il I  \" Ll u ‘
3) 107 ﬁ *l‘ir“‘ al ”‘”mﬂm“‘wwp”“*‘
ﬂ) 219 = : = ‘ w‘ \‘i | ‘ ”‘ ‘H‘ i I‘UH ‘i‘l uf I!
= : = ‘ b i i | “‘ i 9:“ i
S) 9 -  ,‘ MH ﬂwvwﬂkwwywﬂmﬂww\‘
e ‘waywmf“

“Solution: The correct series has followmg pattern | :_‘u“” !

23 51 107 § 219

2 -9
\/\/ \./ /"ﬂf ”’
7 140

56 A e e

3) 13 e

‘ﬁ = =
(7x2) (14)(2) (23x2)‘” (56‘x‘2) LD T
- : I | | | ‘ MH‘U““ i
= T i Iy il
Q=7 = 7= v v 4“ [ ‘1‘\} a7y “;". o
, = B AR v U
1; 12 = i, | i ‘3‘ \‘ w‘ Il | | i‘ ” ‘!‘ | “\ [ H‘\ | i U |
2) 3 1 g 9‘W“Hwyh«”w HJwﬂyw\‘.‘ ‘
i “M W ‘
. T Al
5) 17 I Ij “‘WH\W y “ | | N‘W |
‘\ ‘”\ ‘u
Solution: The correct se‘rue; has rfo”aMng p"lttern Jits
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Gl 2 5 8

Ste = - iy
3) 36 ‘
4) 296
5) 4726

Snlution The cor?ect senes has foﬁowmg pattern il ‘ il

el il 1“‘1“““296 ‘T‘|4752 152095"_

= 5* “\/k/ w/\w‘“ \/

7 = X1+1 ‘¥2+2| \XQ»M J il x8+8\

i [ “\ il |
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il T \ il :"\\ | i il
hi ‘ 0 il Il
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Qe 125 106 88 76 6 58 53

1) s8 “ ‘H “gﬂ W
2) 106 e iy H‘w “‘”‘ e
3) 88 e

4) 76
5) 65
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Solution: The correct series has followmg batterq il
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1) 13 ey

2) 17 Ly g \ ‘
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Solution: The correct senes has fplIoan paﬂern
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‘1 M‘\QZl lf the Iength of a rectangle is increased by 30% and the width is decreased by 20% what
phrcent change occurs in the area? ‘

s

éjffjf{j.ﬂ’i/ffl.f.{//l/.-

e

= e

“'1)\ r‘amainsthe same ‘ it
M \M repses by 4% A el
3) decreaéeﬁbya% ke
4) Cannot be determined | | il

5) None of those given as options Gt il

B e

e
o=

=

v
=5
-

s
-
3

“ Area of rectangle (A) = length (1) X width (w) A
. New Area of rectangle (A") = (1 +30% of 1) (w—20% of w) ‘ o i
= (130% of 1) (80% of w) e
| = 104% of lw .
Hence area increased by 4%
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Q.22  Suppose you know that V 5| is apProxlmateIV '3.88. Which of the foIHMng is the best

5 M‘ii‘“”” i HMMWWH [ 1 |
approximation to 5? i I il "“”\I‘H‘\!‘\”W‘” il il nam T i
‘ I AR - L

‘;y\|
1) 0.43 il | “‘ i | i i L ‘ i R |
2) 1.89 w‘,‘;}i““ i o I ‘ R
3) 1.29 1\'”1“‘ | i . ".w‘“‘”"‘MW‘:‘
4) 1.63 iﬂ:' i ‘ Ty
5) None ofthose glven as 0pt|ons DIINORS e

Solution: vI5 =3.88 T A A
| | i 1 I i | i
| I | i e |
| il M‘ It T (gt TNt ‘W¢V
Ei - }[gzi - Eifzfi EEE wj.-ZZﬁ) N! ‘Nr“ \WHH ‘MN'H‘l | A I;?A‘ ‘ | |l | | \i}ﬁﬂ“ il
i i i il i e 1 il
3 3 3 il I il gl il ! ! ] i | il ! | | i e, i
‘ “ | L{ “ \‘m‘ \J‘ \“ | | “ ‘”“ i h‘”‘ |
Q.23 The length of a réttangular room |‘s 4wme‘£er§w lf”tﬁah‘l‘)?“ partn‘t‘qonecﬁ into t\‘n‘/q equal square
rooms, what is the Iength of the partition mmet\res? \”‘M i WI Il b j y il i i " A
| | l “ M HH I m “‘ Il | H I b I | i | |l Il il I Il
1)1 - e |\ U‘ il | | I i i (i i ‘ i " il ! H‘ gl
2} 2 i L ‘  \ I i i I I I | (i I Il I ! \
(i | il g L
3) 4 I L ‘” i |
il il I i ! i
4) Dataisinadequate 1 e . | ‘”wu- il
5) None of those given as optlons TR L i
B T " il
Q.24 Ifa,b,c,dande are five qmnsﬁ-cuﬂve mdd numbers,‘ what is theair* aw hgq?“
ol I ‘ﬂl ﬂy | M‘ | | (Il \ \sm“' il
1) b ;‘ ‘ Il | i } ‘” | F i T L | I | “‘\'M‘ I ! iy
R il I e T 1 T I i i
2’ C “ d“ ‘WW wv hl i ‘T VN it ‘NNN Hw”ul (1 ‘N‘ ‘W‘ | | I i ‘MM
3) d | | | I | | | | L | | 4 il 1 I | i I “‘- . I M\ I Il il \: BN i ! |\ |I HHH
4) Dataisinadequate | il At T 1l iy ““ ” it
5) None of these | A I e e o il |
Rt L T I i I (il 0
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S DU TS Ty e T ‘w M
S) None of these |

Solution: W

dd mwx bers th

c-4, c-2,
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Solution:

Original price of caris P
Cost price is 80% of P

Selling price is 140% of cost price

=140% of (80% of P)

- =112%0of P

Q.26

1)
2)
3)

# 4)

5)

Hence profit is 12%

A sum ts dwtded among four persons in the ratlo 3 4 5 8. If the second Iargest share is Rs.
‘2500, what is the tofal sum? - s

Rs. 10,000

Rs. 12,500

Rs. 4,000

Cannot be determmed
None of those given as options

$alu;ien: - -

Total sum 3x + 4x + 5x + 8x = 20x

- Second Jarges;t sum 5x = 2500

Q.27

X =500
Hence total sum 20x = 20 x 500
=10,000

A scale of amap is 0.8 cm = 8.8 km. If the distance between two points on the map is 80.5 ¢m,

which of the following is the distance between the two points?

1)
2)
3)
4)
5)

885.5 km.

88 km.

100 km.

980 km,

None of those given as ontions
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which of the following is the distance between the two pointss

. t -oee. M
ERE )

1) 8855 km. 3
2) 88km. =
'3) 100 km. == -
4) 980km. - =

5) None ofthosegwen as optlons 7 = =

Solution: 0.8 cm = 8 8 km = 7 5 =
SOScm 88 08x805

= 885.5 KM

W

Q.28 The difference between the compound mterest and the sumple mterest on a certam sum at
;5% perapnum for 2 years is Rs.1.50. What is the sum’? = = = = :

01

v AR e A a e |
At o o bl o o o o ' i p .«‘J'.a‘u",'x‘.«-‘.",o"w".a“-t‘

“ 3? ES-%GG : . 5 == = = -
2) Rs.500 = =
3) Rs.400
4) Rs.300
5) None of those given as Optlons

~ Solution:

Let sum was P and interest r = 5%
sum with compound interest = P [14r]?
Sum with simple interest = P+ P % 2r

A S I R A R AR Ly o7 et RSN
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Difference = P [1+r]2 P [1+2‘¥.] IR H i m | N\ H Wi “ Il m‘m g w U i ‘ W | ‘\ U TR \;‘ iy
-p [1+r1+2r_1 2[‘] W U \\ m i w\ ‘\‘ 1l | i M\ Il H\ Uw i \‘mw ‘\\“ il |\\ Il \I‘ i ‘ ‘ H l“ g “‘ ““‘;‘““‘“‘H“\w ‘M‘ i fw i “ o
=Pr? I R W g U I W H\ I 'H i ”‘ i Ji : “ i fl s
=P x (0-05)2 WL i Ul ‘” H‘ \U H“ I i H‘ LR i | U i ‘ | ‘ i i i i il |
P (0.05)2 = Rs. 1 sl Wi i ”‘ it H‘ Il \M M\ L il i e, o
-MMWU ‘M”M|WWH\ I T \W‘U“‘ lemww I
i i i M\H‘H i AL il
P= L Rs: 600 G [ i | MHHH TN wl‘” itl
i v i i il il I “ i H‘ il I H \' |H‘ b m i ‘” | o I “l‘
Ml il | (i i i
Q.29 A trader mixes 240 kg. of tea | purchased at Rs“24 per, ”kgw v m Gtmlmkg of tea purchased at Rs 35
.per kg. At what price should he sell 1 kg of the mlxturg to makg 33% pr‘of't? N
1) Rs. 41 I il i i I Ml i Wi I el Il ‘\ il I i ot
a I ‘\ i “dﬂ“\ “wﬂmw ‘.HN
2) Rs.33 ! i i " i I ” i Ll i i I ji N
3) RS.30 ‘w; ‘ ! ‘ww Il “UWWUWMMWUMWWWM‘“N !‘1 AVW‘N :'HIV
Il [l | il il I i
4) Rs. 35 | ‘ i il Ly i \” i il |\ i W T ‘| i i ” At
ul il | "l Lo i ‘NILM”‘ HNW i il
5) None of those given as options i Wi L i H‘ il i i il i il
A L e I I EY i “.w!“”“““” 1
Solution: T i il T i i il L [ i i il il i | dhY g
| I ‘ Wyw‘Jh‘wwrW”w',va‘
Price of 1 kg mlxture = 21024 6‘“ 55 o i gl bt ‘w' i
24[)d b [l il (it ”W ! \‘fNM”‘N‘ e
. i Woik 24 "‘ L 4‘“ ”x \L “5 il il 0l I A [ i il g i |
Sellin ic = ) TR A Iy | | i ‘
g prJ‘CE should I?E 2404 (i i i I m, i il il I uH\ i U |\‘ il Ul il \‘ \w i il \U” U i il M
) d‘ \UHM‘ ‘N I [ ‘
i Rs 3'5 W AT L il i Lt i W‘ W Tt
i ‘UHHMWNF‘ ”\WWWWN !
AR (e I

Q.30 A person mvgsts 78/ Remen‘c in'm 1achinery, u.Quwpgr‘dyent ‘”” ! e
‘ ‘ on raw ma erials, 10 parcent on
employees and has Rs. 20 (;JOQ casH ‘wit ﬂifﬂ‘ MHW‘f mqgh did he iH\}est inr mdlﬂj‘ubw andt l"aw materials

o

s

2

=02
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1

together? \ i il 0 Ly H‘W \U‘” i Ll \ il Wi At
L LT L m\‘-\\**Hw"‘\‘v!“\‘«“"“'”"- Gl
1) Rs. 17,000 i “ f \ | A wu‘m‘ i 1‘\U‘.”“‘\H‘H“‘!\‘”“‘;‘rl‘“”‘\!““” i ‘j““ ‘ il M”“H WH“ i 'g‘
?_) Rs. 1'70‘4‘,000 1 n i iy W \‘ | \‘ AR i ‘; / H ” I Mu‘y\‘m | ‘M “:f‘ “”“;I ” “”‘H‘:}“ Il i
B Rs. 3,090,000 b kg e I ol ol M‘w“t“v“”j‘“?‘f‘ ;;ﬂ] il
- 4) Rs.34,000 it | T ) e ‘w“
—_— e mf‘ w‘ H m o R I i )
T M . Ll il
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Q.30 A person invests 75 per TR o ki - Lt
percent in machine 10 M
employees and has Rs. 20 000 cashwwnl‘\”ﬂu m. How N hi?dpde:]mm T MW il ials, 10 percent on
together? bl i (AR H‘ i H‘ H“H‘ il wl\\ ine 'nYESt in machinmy and raw materials
i I ‘H‘u | it ‘ l | i
1) Rs. 17:000 | | i Lt L W il ‘\ ‘I\ i ”‘ U ” H H H “ U ‘ ‘I‘ A i i il Wil i i !
2 Re170000 il
! ! i | | 0 I M ‘\‘\‘ M“
3) Rs.3,40,000 e LU | |‘ (IR Hiihi 7 i i o
4) Rs. 34,000 AL ' Ty ! QH i H‘ U‘ U‘ \‘” u“ w w‘ Il ] i i i
5) None of those given as Opms i [ i T
S | t. . - LA il T ! i “\ u““”
olution: I L A1 i i il il
‘ i PR “w.-\‘\‘”‘
Let total cash was M e A I
Rs. 20, u g A ‘
i [100/0 (75% +10% + 10%)] Of IV i i MR
R ‘5% of M T AT R L | i I |
! M = Rs. 4,00,()00 L b e i i ” il I Hhin |
anESt_mentﬁn ma‘;hlﬂe R il e I i il
i ry Bnd raw mat \ \\” |
=85% of M i Wil TR ﬁ”al | 75% m 1|0% 83% i I f il
=i 3'40’009‘ 4 A i i I il ”‘ il
i [ R it N
TNl ‘ I i M‘W‘ |
N IR W LA i MR M 1 ‘ il
'Q.31 A boat takes four hours TN e N A
L | \]QWS for tr ‘ Uil I Il
to point A upstream, If the speed of lﬂ‘éﬂ;ﬂm[;iﬂi‘:;itrqam framibbint A tﬂ point B and oo Bk
<IM P 'an
water is 4 km per hour, what is the distance betwem Aeﬂ"ldh@, wlang th e aﬂéed of the boat in still
il I ¥ I “ il |
lj 6 km VT 1 T | ‘H‘”HHM “H\Hl‘“‘ I “ ‘
2) 8 km il L “ ‘11: ”‘ H ‘} L ! W ‘I‘ il ‘ ‘ \|‘ W H ‘h M H' il i d} I !‘ : i i i
3) 4km R i “‘ L I ‘
Nkt ) ‘\Iww‘m Jiin “ .wu‘h‘ i N:i e l | “  H
| g ‘ ‘
! v w I L i i) w“‘tl\f"“‘:“;:‘ " i

e
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Q.31 A boat takes four hours for travelling downstream from point A to point B ahd coming back
to point A upstream. If the speed of the stream is 2 km per hour and the speed of the boat in still
water is 4 km per hour, what is the distance between A and B? Mg

"'-—-""-""W

1) 6km
2) 8km
3) 4km

8

i, = I I

| [l | L

P R R R R R R N N R T e N R B e A R O R A L N A R R L LT R R
N e A e T SR PAVA PR S S S A T P T T
I | |

Test of Quantitative Aptitude/ Data Analysis and Interpretation
\ i Wil | ~

¢

4) 9km
~ 5) None of those given as options

Solution: bt

Let distance between A and B is d km and time taken to travelling downstream is t hours.

4+2=4 and 4-2=-L
t 4=t
6t=d and 8-2t=d
6t = 8-2t
t=1

d=6t=6km.
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5) 1984

was the a ‘rage exbo ‘of pearls7 cr res'ﬁ‘

T

Q33 In which of the following pa ‘rs of veﬂr i

= i
. '1),1981and1932 - ﬂ}“
- 2) 1982and1983 1?i‘”‘.‘\W i
~ 3) 1982and1984 =
- 4) 1983and1985
5) None of timse gwan as optmns ,
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None cf those gluen as opt
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3 Q.38 In the case of E type car in which year was the ratlo of rejection to production the lowest 3
v among the givenyears? - L
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1) 2014 ol al
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3)2016 |- ol A0 |
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Q.39 What was the dlfference in number of C type cars rejected between 2014 and 20157

1) 200 ; |

2) 250 = = e
=3)2000 =—=— o

= — — 4)2500— — :

: = 5) None of those glven as opt:ons

1)8 - = =
oite: — = : —
1= — = = —
e —

Q41  Inthe year 2014 in the case Df whlch of the followmg cars was the regctnon belcm: ﬁve =
= percent?—— = @ = - =_——
= NA — . = :

- 2)BorE = = = -
3)BandC = i ' =
4)Cand D o 7 =
~ 5] None of those given as optlons .
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‘Solution 37-41: Based on the mﬂ,@a

f ‘ll;l}"u @ given Table }
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042  The average of the ages of A B and Cis 20 years. If the average of the ages of Band Cis 22
years, what is the age of A in years?

1) 21 i
2) 16 | il
3) 18 il i | il
8 22 I ”

5)  None of those given as options
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The average of the ages of A,BandCi is 20 years If the average of the ages of Band Cis 22 =
b

years, what is the age of A in years?
1), 21 I
2) 16 i
3) 18 ‘ N
4).: "i:22 I
5) None of those glven as options i = =

Q.42

Solution: -~ H o == —
A+B +C 20X3 = 60 W ‘ i . = =
B+C= 22 X2=44
A= (A+B+C) - (B+C) = 60-44 = 16 i = -

Q.43 A shopkeeper bought 30 kg of rice at the rate of Rs.7.00 per kg and 20 kg of rice at the rate
of Rs.7.75 per kg. He mixed the two and sold the mixture at the rate of Rs.7. 50 per kg. What
was his gain/loss in the transaction?

1) 10.00 gain
2) Rs.10.00 loss
3) Rs.27.50 gain
~ 4) Rs.27.50 loss
5) None of those given as options
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Solution:

Shopkeeper’s mvestment in rice = 30)(7 + 20)(7 75

=Rs. 365 '

His revenue from rice = (30+20) X 75 .

= Rs 375
Profi t revenue — cost
=375-365=10
Hence Rs. 10.00 galn -

-~ 1)  Rs.10,000/-
=— 2)  Rs.20,000/-
= — 3} Re.12,000/-
4)  Datainadequate

=== nr SImple interest earned on a sum of money after 10, years at the r eof5
~was half of the sum. What was the sum'? | = —

5) None of those given as optlons i
Soiution A >< —_— >< 10 = -2-, ,where Ais the sum of Monev i

Thxs equat:on is satisfied by any posltlve value oﬂ A, "h‘en‘c ‘c‘i‘

Q.45 If the price of six toys ls Rs 264, 37‘ ‘v‘v‘ HNW be\the approxima

1)  Rs.160.00
2)  Rs.200.00
3)  Rs.240.00
4)  Rs.220,00
5)  Rs.140.00

Solution; 26:37 % 5 = 220

Té&t of Quantttatlve Aptltude/ Data Analys:s and Interpretatlan

ta !IS |nadequate to fmd the sum of money

te“* pnce nffuve toys?
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= Sélutipm “‘f’ x5=220= 0y
Q46 Six years ago the ratio of the ages cf Kamal bnd Suresh was $6: 5 four years hence the ratm: E
= = of their ages W||| be 11 10 What i is Suresh’s age at present? | e =

—=—— = O s s ! -
=~  J)=aRyeas = = . 7 -~ - -
= 37 6yeann— - - 1= - = — = =
= — — 4} —Cannothe determmed *7 = =
=~ 5= Noneof those gwen as optlcns ——=
,,_l — Solution = - = = ﬁ‘
~ letageof kamal and suresh is x and y respectlvely = -
- _5.__ == = = = — - = :E
= = = = HEDCE = SX 5Y 6 ( );, ";,;‘ : * - - — = 7 = = %T = = i = - = — 5‘;
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= 1) RS 4 500/ | | 3‘ i o H“ At ‘
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Q47  Attheendof three years what wull approxlmately be the com pound mterest on Rs.10,105/-
at the rate of 10% per annum? il ‘

1) Rs.4,500/- : i iy w m i
2) Rs3,000/- “ il
3) Rs.3,300/- = i M” i
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3 = 4) Rs.3,600/- i 3
= = " 5 = I il | =
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ution: By applying the formula ui Compound i nier
I

Compound Interest = H “Pruzczple Amozmt (y 4 100 )“”“‘
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Q.48 12 men compiete a wor k in“lB dgys Six days aftel the‘y haqi started werklngﬁ four more men

joined them. How many days wnll aJl of them take to comblete the remaining work?
1) 10 I il
: 2) 12 I AR
; 3) 15 AL ‘ il b )
v‘C‘ 4] 9 ! i 1 A
5) None of those given a‘m optuonr | ‘
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Solution: U L A0 “‘,w“ il
Men , Work < ! Dyl ot S e e
12+ |

18 3 15 ' =
_— x-—x X18 Qdays, A sl s

Q.49
1) 7
2) s

x_2.12 = Bl )

S) None of those given aSOptuons g Ul A i

If threeafburth ofa number'is‘27, wﬁat wi'l‘lua“pﬁ}oﬁmartg or]é-seventh of that number be?

4) 9 = g R T

S) 3 : F= ‘ il ‘W :“‘:‘

_ Solution:

s X=36

Q.50

1)
2)
3)
4)

5)

IX+4=27 o ST 18

A sum of money is dwnded among three persons in the ratio 4 : l‘l\
Rs.1,000/- more than the smnllpsx, share, what is the tqml sum"' ‘
Rs.4,000/- ‘ "
Rs.9,500/-
Rs.3,600/-
Rs.3,800/- _
None of those given as options

9, If the largest share is
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X=36 PR ‘iuw‘v‘“ Wiy iaes 3

i S ‘ L ! i | .

36-7=5 = | a I w‘“w“w‘\“”‘ | ::
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-Q.50 A sum of money is divided among three pierﬂsons in the ratio 4 : 6 9. If the largest share is S

Rs.1,000/- more than the smallest share, what is the total sum? N

1) Rs.4,000/- ] LT e e &

2) Rs.9,500/- e ?" FoTE e 3

3) Rs3,600/- Sicii et 1) e e =

| . 4) Rs.3,800/- ‘ T 2

- i [l I T >

5) None of those glven as optlons T R

=——— . st e | -

, Solution: HEEE S T L N

= = N

= -—— Sum of money divided among three persons in' the ratlo 4 b: 9 Pt i t:

' - Lettheir share is 4x, 6x, 9x | | “‘ W L T 3

: . Hence 9x-4x = 1000 I | UL e b =

X =200 =L L R T T it &

Total sum = 4x+6x+9x 19x = Rs 3800. | “, i “‘ i I 2
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